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SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. Al parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C /D, Each part carries one mark.

(i) The lowest form of—i— :-2— is:

A, 6:15 B. 10:9 C. 5:8 D. 9:10
(i) If there is only a single daughter or agnatic granddaughter her share is a fixed:

A. One fourth B. One sixth | C. One half D. One eighth
{iif) Loss is there when: :

A SP=CP B. SP<CP C. SP =MP D. SP>CP
{iv) The return earned by the bank on joan is named as:

A. Premium B. Bonus | C. Profit D. Mark up
(V) The tax charged on all the taxable income is called: ‘

A. Sales tax B. Direct tax : C. Income tax D. Excise duty

(vi) The simplest form of log5+log6—log?2 is:

A 10g§—;—6 B. 1()};5—22 C. log 622 D. log5x6x2
(vii) In the logarithm of a number the decimal part is called:

A Characteristic B. Mantissa

C. Rational number D. Real part
(viii)  What will be the 5th term in 12,16,21,27

A 34 B 30 C. 31 . 32

(ix) K a, =(=1)""(n+3) then a,is:

A7 B, -7 c. 14 D. -14
(x) If R={(4,5),(5,4),(5,6),(6,4)} then domain of Rs:

A 4.6} . B. (4,5} c. (5,6} D. (4,5,6)
o) HU={1,2,3}, 4={1} thenU—-A="7

A 2,3) B {2 c {43 D ¢
(xi)  The coordinates of origin are: . _ '
A (LD B (0.1 c. @0 D.  (0,0)

(xiiiy  Forthe data set 6,2,4,3,4,5,4,5 the mode is:
A 5 B. 4 C. . Both5and4 D 2
(xiv)  For the set of values 6,8,13,11,18,27,23 range=?

A 21 B. - 33 -G 27 D. 6
(xv) Z (x, —X) =0 is one of the properties of:
A. G.M B. H.M C. AM D. Median
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GENERAL MATHEMATICS SSC—I >

Time allowed: 2:40 Hours Total Marks Sections B and C: 60
NOTE: Attempt any twelve parts from Section ‘B’ and any Four questions from Section ‘C’ on the separately
o provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly. Log Table and Graph Paper will be provided on demand.

Errms

SECTION ~ B (Marks 36)

. Q.2  Attempt any TWELVE parts. All parts carry equal marks. - {12x3=36)
. (i) A hockey team won 62% of their matches and 26% of them were ended in a draw. What

s percentage of the matches they lost?

(i) A factory makes 560 fans in 7 days with the help of 20 machines. How many fans can be made in

- 12 days with the help of 18 machines?

o (iii) The inherited property amounting to Rs. 20,00,000 is left by a deceased. He left behind a widow
and two sons. Workout the share of each.

{iv) Three members of a firm divided the profit Rs. 67,200 among themselves in the ratio of 2:3:7. What is
the biggest share of the profit?

o {v) The annual income of the flat is Rs. 14,00,000. Find the tax payable at the rate of 16%.

m o (v Simplify (a%‘ b% )_% + (a% b% )—5

{vii) Simplify and express with positive indices:

- (viiiy  Evaluate: 210g5+10g8-—%10g4

- (ix) Find the nth term of an A.P, where a,_, =3n+9

) Find the 30th term of a G.P x,1,-, ...

(xi) Find the G.M between 2x”and 8y* .

(xil) el =1{1,2,3,4,5,6,7,8,9} ,

- : A={243,6,9and B={1,3,6,7,8} then verify (4 B) =4" " B*

e iy If A={1,3,5} , B={x,3z} and g={(1,x),(3,»)(5,2)} is a binary relation from 4x B,

then show that 'g' is A4 ontc B function.

-

(xiv)  Draw the graph of y =3x+4
- (xv) Find the standard deviation of the values 2,3,6,8,11
{(xvi)  Forthe data 3,5,6,8,8,9,10 find:

a. Median b. Mode
- (xviiy  Find an A.M between 2\/5- and 65 .
. e . o ®1x10°x12
’”‘““‘ {xviil)  Simplify and write your answer in scientific notation: WM
o , SECTION — C (Marks 24)
Note: Attempt any FOUR questions. All questions carry-equal marks. ‘ {4 x 6 = 24)

Q.3 14 cows consume 63 kg of hay in 18 days. How many cows will eat 770 kg of hay in 28 days at the same rate.
. Q.4 A person got an insurance policy of his car at the rate of 3.6%. He paid an amount of Rs. 12206 as the first
o premium of one year. How much is the price of his car while he had paid Rs. 200 as service charges?
e Q.5 Rs. 3720 are to be divided intoc three shares in such a way that 1st share would be doubled, triple te the 2nd
' and 5 times to the 3rd are egual. ' ‘

: . y 2
Q.6  Using logarithm table evaluabie (0.0437)" x (1.407)

- 1 ]
= (0.0015)” x (1.235)7
- . a. 4
; Q.7 Findthe nthtermofa G.P,if —=— and a, =— .
o : a, 9 -9
m Q.8 Find the standard deviation for the frequency distribution of marks obtained by 50 students in English at a certain
examination. Also find the variance in this case.
s Merks 20-24 | 25-29 [ 3034 [ 3538 | 4044 [ 4548 [50-54
_ » Frequency 1 4 8 kN 15 9 2
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